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Topic:- Child Development & Pedagogy (CDP)

1) A student is motivated to study due to the belief that a good grade will help his/her application for Class Representative. According to the
Humanistic Theory of Motivation which need is he trying to fulfil? / T% BT 59 A4 & 3= 34 F g PR g1 @ f ereot I Sud/3aa! Farm
ufafAf 99 & 3mae A Heg S| AU F AFaararc Rigid & AR, 98 50 ATaRaddl &Y R HIA BT BRI R 36T 82

1. Esteem Needs / ST SATaRgawdl

2. Self-actualization Needs / 3T fa=aIwur &t STa=aear
3. Social Needs / STHIII® TR

4. Physiological Needs / foraTaies fTaadsar

Correct Answer :-

« Esteem Needs / E!T:ﬁ SHTARGhdl

2) Which of the following idea about learning process is not implied by the theory given by J. Piaget? / fFrafiafEa ¥ #19 a1 faur 9. W g feg g
Rrsia & SifrTe o withar & wdy § ffga -1dt 82

1. Learning is passive assimilation of given knowledge. / S foU U IF &1 ST Sifrar %I

2. Learning is an internal process of construction. / 3ifRTH 0T &1 T iiaRe ufsbar g1

3. Learning cannot stem from observation or experience alone. /3{feRTH Had D al 3gHg J I e 81 Thdl|

4. The process of learning makes sense in situations of change only. / 3fTH B Ufehan Haw URadH ot Rufaat & gaer § St %‘I

Correct Answer :-

« Learning is passive assimilation of given knowledge. / SiferTy fou U 9 @t [Afssg G@HT%I

3) Children belonging to same age group and sharing similar social background are known as ./ U g aif & =i BT AT SR quH e
TEURI B ARNSRAT____ & & F o1 orell 21

1. Play mates /@?ﬁai?ﬂ%ﬁ

2. Friends / T

3. Class mates / GgUTS!

4. Peer Group /WWW

Correct Answer :-

o Peer Group /WWW

4) Low student engagement inside the class could be because of - /| B&TF WX BT B HH FEHTRAT fHd RO A 8 Fobell -
1. model based learning / ATSH STYUTRT SHfTH

2. Cognitive conflicts | TS T

3. Interactive sessions / HaTGTeD T

4. the lack of interest / < B HHT

Correct Answer :-

« the lack of interest / e @1 B

5) Observation is an example of: / 3aaAHT BT Th IaTex 0l % :
1. Assessment / 3D T

2. Evaluation / Jegieh=1

3. Measurement / AU

4. Test / URT&0T
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Correct Answer :-

o Assessment / 3T

6) A disability present in which of the following? (AR afrfaa ¥ d frad e Hmﬁﬂi{%?
1. All of these / Iufaa Tt

2. Continence, dexterity or physical coordination only / HId ST, ﬁgUlﬂT, 1 IRINSG T

3. Speech, hearing or eyesight only / Faa HINUI, $quT 4T G

4. Mobility, perception or memory only / FHad Tfaeierd | SdTH ’CITF:jﬁT

Correct Answer :-

« All of these / Iuda Tt

7) involves a stimulus which strengthens the probability of the expected response. / T U Ao AR gt 8 it sriféra wiafdear #t
HUTTTT $1 7o Bt 31

1. Negative punishment / THRIHD gUS
2. Negative reinforcement / THRIED G
3. Positive punishment / HHPRIHD GUS

4. Negligence / SIEREIE]
Correct Answer :-

« Negative reinforcement / THRIHD 1171_8{?17‘[

8) Which approach to teaching does strengthen one’s memory? / Rreor & forg PI4-91 =P fdt Ft '\‘Hﬁf Cg| Holqd
FATR?

1. Multisensory / aﬁﬂaﬁ

2. Visual memory / mﬂﬁ

3. Tactile memory / Rl F:jﬁf
4. Audio-lingual / Jffea-feftaa

Correct Answer :-

« Multisensory / a’@'ﬂa’cﬂ

9) According to Kohlberg level of morality is determined by social norms explicitly or implicitly agreed upon by a group of people. / Eﬁ'@'ﬂ"fa?

TR, AT BT TR ARG AFES! gRT T Fu A Frufia giar @ a1 @il & te 99g gR1 W FU 3 9eHd gt 8|
1. Post-conventional level / URd-URUR® &R
2. Conterventional level / TR &R
3. Pre-conventional level / G4-TRUR® WR

4. Conventional level / TRUR® WR

Correct Answer :-

« Conventional level / TRUR® WX

10) What is the process by which information is lost from the long term memory due to nonuse? / 98 wforar & %, o gr1 Sdifers '\Wjﬁf J aﬂ‘é ORI
TGN §1 & HIRVT FATH STell 82

1. Delay / fads
2. Decay / &4
3. Rehearsal / E@‘TWTH

4, Interference / &Y

Correct Answer :-

o Decay /&3
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11) What does Kohlberg’s theory of development focus on? / Bigati & fawRT &7 Rigia fora R Hfa &
1. Moral judgement / A Fofa

2. Moral behavior / 3fde gagR

3. Cognitive judgement / TTH®B i

4. Judicial behavior / e TAGR

Correct Answer :-

« Moral judgement / e fofg

12) What type of model describes development as a passive, predictable response to stimuli? / 5 ypR &1 disd HaeT & Rt s ﬁ@)‘q, G{ﬂ'ﬁTﬁ'cT wfafssar
F ¥ H e o1 auf FRar 32

1. Organismic model / S dfsa
2. Mechanistic model / 99d AISd
3. Attentional model / 3/CTHT ATS

4. Descriptive model | JUHTEHS HSd

Correct Answer :-
« Mechanistic model / IFad Ared

13) What does OCD stand for? / 3Rf{Et (OCD) &7 quf & 71 82
1. Obsessive-Compulsive Design / JsAfyg-Hrfayd fewmga

2. Obsessive-Compulsive Disorder / HARg-HrRTE fEgsiiey

3. Obsessive-Cognitive Disorder / 3. Hififed fesiiex

4. Office of Cognitive Design / 3HTh Y 3HTH Piffed %TIHET‘T

Correct Answer :-

« Obsessive-Compulsive Disorder / g -Hrfar fEasier

14) Theories of Child Development explains: / §T¢T fea® ﬁ{@'ﬁ[ affa B % f&:
1. How children grow and change. /ﬁﬁaﬁ IR mﬁ%l

2. How children behave in schools. / /& W’ﬁ T H9T HIER FA ¢

3. How children are educated. / S 3 1T 810 1

4. How children react to situations. / =] TR o & wfafsrar 2o % |

Correct Answer :-

« How children grow and change. /aérﬁaa?r 3R Wﬁ%l

15) Which famous psychologist first proposed the theory of Insight Learning from his study of chimpanzees? / Tyl T A ugel aR Riuish ur
3 A T Sregg A Sy iftrma & Riia (a1 & gwTge @l &Y ufaurfea fear?

1. Edward Thorndike / USdS UiSTge
2. Wolfgang Kohler / e HgaR
3. Jean Piaget/ﬁﬁ:ffﬁm@f

4. Ian Pavlov / s‘m’—mﬁt«ﬁa

Correct Answer :-

« Wolfgang Kohler / P BIgeR

16) Which of the following is an intelligence test? / fFrafafaa & 3 #H-a Th §@ Teor %?
1. Locus of Control Test / T 3T FHeld S

2. Sentence Completion Test / WU;UTT‘IT LR

3. Myer-Briggs Type Indicator Questionnaire / Y T eTey Yahdd uyTadt

4. Binet-Kamat Test / fS-ic-@ma udteor
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Correct Answer :-

« Binet-Kamat Test / fSme-smaa gteror

17) Which of the following is not a type of reasoning? / FrgffEa A P TP UPR &I ab e
1. Syllogistic reasoning | SUSKIHRI T (ﬁlﬁmm

2. Deductive reasoning / s 7 (Ssfaea =)

3. Transference reasoning / SFIRITU T

4. Transductive reasoning / URdIfH® dh @'F\‘Eﬁﬁ ﬁﬁlﬁ'ﬂ)

Correct Answer :-

« Transference reasoning / 3FIRIIUT GE3

18) Which of the following is not a gateway drug? / frafafea o @ s=-ar U Aeq S 7@1%"
1. Alcohol / RRTF

2. Tobacco / W

3. Marijuana / WGTHT

4. Cocaine / HIBH

Correct Answer :-

« Cocaine / PIHIH

19) Which of the following is not the focal point in the process of teaching? / fFrafafea & Fa-a Rrgror aﬁmﬁaﬁﬁgqﬁ%‘»
1. Pupil / &

2. Content / ARkt

3. Teaching method / Rrgror fafdy

4. Teacher / Rref®

Correct Answer :-

« Teaching method / fRrefor fafer

20) Which one of the following is the symptom of ADHD? / FFrafeiaa & & #19-91 Tdiwas &1 qemr 82
1. Boredom / SGIT

2. Stuttering / 8P

3. Hypersensitivity/ Sforgdg-Riterar

4. Hyperactivity / 3ifa aforaar

Correct Answer :-

o Hyperactivity / ifa aforaar

21) Vygotsky’s Theory of Language is based on learning theory. / AT By BT R St ¥ Rygia w GIT‘dTﬁ'cI%I
1. Behaviorist / SITgRATGT

2. Cognitive / SJHTHS

3. Constructivist / TETETET

4. Emotional / HId-THD

Correct Answer :-

« Constructivist / TG

22) is one of the many ways through which culture affects develop t./ QTQ GRiCak: £l Udh GriCal % forae arem | '\‘i'\qfﬁf, [EEankal
YT Felt 81

1. Religion / yrf

2. Context / Gaf
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3. Language / HIYT
4. Environment / GRaST

Correct Answer :-
« Language / HIHT

23) is studied under Personality and Social Development. / BT 3 Afcied 3R ATHIIS e & Siefa farar
ST gl

1. Egocentric behavior / 3G ad STIER
2. Memory process /Wﬁfm
3. Perceptual acuity / AHUROTEE TIEUTT

4. Premature birth / THT I q\é Skl

Correct Answer :-

« Egocentric behavior / 311?‘5@7—% IdgR

24) The purpose of scientific investigative learning in education is: / fRrem ﬁaﬁﬂ?ﬁ?ﬁfﬁl Siftre 3’7[3%@% :
1. To encourage collaborative work / geartt Eapikal TTfed @34 & f?TQ

2. To complete the curriculum content / UTGAHH RIEpikal PRl PR & fag

3. To build scientific literacy / I WIERTT BT FHT0N BT 3 forg

4. To provide hands-on experience in class / D&T o yger STHT Uald FA B ﬁm

Correct Answer :-

« To build scientific literacy / aﬁlﬁ?ﬁ IRl b1 EEUEGIET 1%111

25) Outlining the expectations from the students will enhance their learnability. This task becomes part of : / B A srdgmait aﬁwmﬁﬁm SfRTT Bt
&rrar ¥ gfg gnit1 o ol o o1 iR s ST @:

1. Summative assessment / SRIfRIA STHTT
2. Assessment of learning / 31fRTH T e
3. Assessment as learning / 3IRTH & &0 & fTeHa

4. Assessment for learning / 3TORTH & {7 3Tper

Correct Answer :-
o Assessment for learning / arfhm%ﬁvnz 3ThH

26) When social values and beliefs are deliberately changed in an individual, it is known as . / 9IS ATHTSTS W 3R m@ﬁaﬁm st
wfda § ufvafda o fear smar 3, i 5@ U FET @I

1. Secondary Socialization / WWUT

2. Primary Socialization / YD GHTSIBRT

3. Anticipatory Socialization /mmm
4. Re-socialization / G: - JHTSHROT

Correct Answer :-

o Re-socialization / G: - THTSHROT

27) “Practice makes man perfect” can be example for which law of Thorndike? / “3 YT I Eg| qﬁ@fm %I" ?l'Tﬂ?:'lgﬂ'T Ffrafaas ﬁn;r
IETERVT &1 WP a1 32

1. Law of exercise / 3% &1 faw
2. None of the above / SIRIgd H ¥ ?ﬁ'&F B
3. Law of readiness / TRdI &1 a9

4. Law of effect / THTd T foH

Correct Answer :-

« Law of exercise / 31T HT fFaw
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28) “The Hierarchy Theory of Motivation” is a theory proposed by: / «QROTT BT 3IhH Rygiar 371%? g1 wfaurfea farar T
1. Abraham Harold Maslow / 3fSTGH gRIce TRl

2. Le Semyonovich Vygotsky / < Rymeifaa argieant

3. B.F. Skinner / §1.0%. AR

4. Jean William Fritz Piaget / ST faferad flbest et

Correct Answer :-

« Abraham Harold Maslow / 3{§ITgH %ﬁ@ e

29) CANCELLED

Which of Marcia’s types of identity status is characterized by a crisis leading to commitment? / TG & {5 THR It yga i UM F 3T WM ERT
g Wi @ R wfaaegar ot 22

1. Identity achievement / Ug T SUARIT
2. Identity moratorium / gl SRR
3. Identity diffusion / Ugdlq YR

4. Identity foreclosure / TgaH BIoIgR

Correct Answer :-

« Identity achievement / Ugdl- SUAIdT

30) What is called education acquired without any specific purpose, fixed period and place? /ﬁ)‘xﬂ’fﬁﬁl‘gm, fif3ra srafyr ofik = & fommm
Siftrrfyd fRiem «) w1 He1 Arar 82

1. Formal Education. / 3iTa=ies fRref
2. Informal Education / 3oafes e
3. Indirect evaluation / Y& Heich1
4. Individual Education / Aok fRiafm

Correct Answer :-

« Informal Education / 3IT=TiRes fRrem

Topic:- General Hindi (L1GH)

1) i few IS rerE= 7 yPet art oA,
T2 WRa & off on$ ey & Tt warh o,

Tt 5¥ redt ot e we vgaEh &,

R et B v &Y weA 7 F ol A
TS ISt T T1a ¥, 98 aaaR R A6,
3 gaell & He g G per R,

T ot el ag o e arch TR A
BHER F A P, Yealel 98- Ddlal A,
deftarg A, far it ag "ar bt o,
AT & 1 ugdl @ 8, 1 & F @elt o,
TS, ITd, PUI, HER! ST TE et A
R Rraro &t MU Suw! arg wer o,
Yo geeiel & e g9 g per R,

Ta o) Wl ag o i areht T A
el ff o gt <ft a5 wad ka1 i sEAR,
3@ WIS YA g SHPT qeaR) & IR,
APl Jg-ofg B 7T SR VAl gu RoR,
= R, g s A A SuS g R{wars|
ST THiY B Tga] R IS W19 9T U BT Sk 9a1sgl
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Wy e & I & g Ryerars & @l o wg1 ™ @2
1. $ad TH il JG-g DI T

2. A I ORAT, g A

3. $ad Gd RIS WerT

4. Sjad quft Ff
Correct Answer :-

. e auft R

2) Rigr fiF 38 worasit 3 Yyt art A,

¢ WRa | off ond oy & At STt o,

T g€ e B Fred W vgarER R,

R freh oY A 3t e 79 & 3

TUF I3Y U TG H, 98 daar R A,

Yo geeiel & e g9 g perh o,

Te o) Wl ag o it areht T A

FHEGR & AT B, Heare gg4 sl A,

Aefiarg A, foar $t ag Tae srbelt o,

AT & 1 ugd! A 98, A1 & S Geit o,

TS, T, PUITT, Herdl SuP! 78 weat A

R Rraroh &t MU ST arg wer A,

Yo geaiel & e g7 g perh o,

T ot el ag o e arch TR A

et ft a1 gt f 97 T IR FY oEaR,

3G WIS TP gia SUP! qOaR! & IR,

APl J5-ogg B 7T 3R A e RoR,

= &, gl i A A IuS firg @S|

IT{F U B UgHR - IR WM 9T YR $T Si¥ garsy|
vy ‘R oft H F3A B v 79 A s o &1 /a1 vaae 82
1. gl o1 3 fthr T o

2. ST A Y IS ALY

3. e R gU T I R X 1 et o

4. TS SR Tl 1 A AR 1 was &1 e fosar ot

Correct Answer :-

o o1 3R Ul ST A AR ) o o1 iy faar at

3) Rigr fifd 38 womasit 3 Yyt arit A,
¢ WRa | off ond oy & At St o,

T g€ e B Fraa W vgarER R,
R freh oY A 3 e w9 & 3it
TqF I3Y U TG H, 98 daar R A,
Yo geeiel & e g7 g perh R,

Te o) Wl ag o it areht T A
PER F AT B, Ygael g Daret Ao,
Aefiarg A, foer $t ag Tae srbelt o,
AT & T ugd! A 8, A1 & S Feft o,
TS, T, PUITT, Berdl SHP! T8 weet A
R Rraro &t MU SHw! arg e A,
3o gRaltell & He g g P R,

T ot el ag o e arch TR A
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et ft ar gt f 97 T IR F oEaR,

3G WIS TP gia SUP! qOaR! & IR,

ol g-o0E B T 3R QA GF RoR,

= 7, gl e 3 A Sud g fRwars|

ITIF U B UgHR - IR WM 9T U= BT Si¥ Iarsy|
v forer amrerTdl Bt Pd waw! wHer A o S A

LT g AT HE W &8

2. UG SHTTet

3. ApdiAdD STt

4. S el uT ot

Correct Answer :-

. THgETHe W §e

4) Rigra= e IS woa= A yFet i R,
¢ Hra # +ft ot fipR @ T el R,

Tt 5€ Sdt ot Foa we vgaE o,

R ot B A B waA 7 § o A
THS It G waTEA H, I8 d9aR QT oA,
Yoot gearal & He g9 Gt per R,

e 9} el a5 @ i areht h
PHHEGR & A1 B, Yeareh gg7 Sl A,
wgHIaTS 4, firar Y a5 Har et o,
AT & T ugd! i 98, A & S Gelt o,
TSV, T, FUIVI, FeRl ITB! gt waelt A
R Rraroht &t MuTd SHE! arg war A,
g3t gael & He g G perh <R,

g a<t Uei-t a8 o i arelt = A
el o a1 gt <ft 95 wad ke Ft SaAR,
3@ WIS Yofhd g4 IYS! deaR] $ dR,
A Y5-odg Bt I 3R Wl Ge RPR,
/= 1, gl s A A IUS g fR{wars)
IWT U B UgHR ) IR WM aTd YR BT Ii¥ Iarsu|
wy: frad 2R o T I wears @ Segarh arg de
1. ATAT Y B

2. AR Rrareit &

3. HERIUN Uelld &1

4. A1 TS UG bl

Correct Answer :-

« dR fRrarf @t

5) Rigr it 38 worasit 3 Yyt arit A,
¢ WRa | off ond Y & At o o,

Tt 5€ Srdt ot Fua we v &,

R ot B A B waA |1 § o A
THS It G WA H, I8 a9aR QT o8,
oot geatal & He o gt per R,

Te g} At a5 @ i areht 7h
PHEGR & A1 B, Yeareh gg7 Sl A,
wgHIaTS 4, firar 9 @ Har et o,
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AT & 1 ugd! i 98, A1 & G Geft o,

TSV, T, FUIVI, FeRl IuB! It waelt A

R Rraroh ot MuTd SHE! arg wer A,

gt geaal & He oo Gt perh R,

g a<t UG-t a8 o i arelt = A

el R g gt <ft 95 wad ke Ft SaAR,

3@ WIS qaiHd gId SHS! qOARI F 9,

AH G5-o4g I T R W G RoR,

= 1, gl s A A IUS g fREwars)

IWT UL B UgHR ) IR WM aTd YR HT Si¥ garsu|
Ty ga13d P 379 | 59 AR & Iy aefiars T8 @t A2
1.3%

2.1

3. Herl

4. B

Correct Answer :-

6) Rigr fewr 3 @ A yPpel arit R,
T2 WRa ® off o ey & Tt o o,

Tt 5¥ Sedt ot Fua T vgaE &,

T Bl ot T $t Fa w9 | 3 A
AP ISt T Ta ¥, 98 aaaIR R A,
g3t gearal & He g gt pert o,

Qe I el ag o e areh I A
PHEGR & T B, Yeareh gg7 ot A,
aeftarg A, far 3t ag war bt f,
AT & 1 ugdl @ 8, 1 & F @elt o,
TSI, T, PUIVT, el STP! T Taet ¢
R Rraro &t MU Suw! arg e o,
Yo geeitel & e g7 g pern @,

Te <) Wl ag o it arelt T A
el A g gt <ft 95 wd ke i SR,
3 WIS TafHd gid ST qoaR]! b AR,
TN G5-odg Bt 3T SR W G R,
= R, g A A A SHS g fRwars)
ST THiY B Tga] R TS W19 914 IR BT Sk 9a1ggl
we: Tt A A e fFad @@ & @t o A
1. Ryarfeat &t I d

2. fH e & e

3. A I I

4. TRl 1 WRa §

Correct Answer :-

. R e yRaq

7) Rigra= fea 3% wwa=n A Yt arit oft,
T HRa # off o fpv A Tt srart <,
Tt 5€ Sredt ot e we vgaEh &,

T 5l ot T $ Fa w9 | 3 A
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AP ISt T e ¥, 98 aaaR R A,

33 Tl & Go g9 T e @,

Qe 7 el ag o e arch I A

PHEGR & AT B, Yeareh gg7 st A,

aexftarg A, far 3t ag "ar bt o,

AT & 1 ugdl @ 8, 7 & F Gelt o,

TSI, T, PUIVT, el STP! T Teet A

R Rraro &t MU Suw! arg werE o,

gt gaal & He oo G per R,

Te <) Wl ag o it arelt T A

el A a1 gt <ft 95 wd ke i sEAR,

3@ WIS T gid ST TR & AR,

APl Jg-ofg B 7T SR Al gu RoR,

= R, g A A A SHF g fRwars)

ST THiY B Tga] R TS W9 91 U BT Sk 9a1ggl
TY: IHE ISt T e W' | fhg I #Y ok 3T fba man @2
1. 1857

2.1957

3.1757

4. 1657

Correct Answer :-

o 1857

8) RigRm fewr 3 woa=n A Yl arit R,
¢ WRa # +f ard fibe & Tt Sarit o,

T 5 3o Y Faa we v R,

R ot B v &Y wee 7 F o A
TP ISt T Ta1a H, 98 qaarR R A,
Yd el & g gAa g wer A,

Tga T} Heit g & e areht I A
FER F = B, Yeareh g Dared @,
aeftarg A, far $t ag "ar st of,
AT S 1 ugdl @ g8, 1 B F @elt o,
TSN, e, PUIY, HERI SHS! Tg! Woat At
R Rraro &t MU Suw! arg wer o,
39 gearal & He H O wrt o,

Te 9} At a5 @ i areht 7h
et ft a1 gt f 95 T IR FY oEER,
3@ TRTS YA gid ST qedR] & AR,
AFel I-ogg BT 9T 3R WA ge RoR,
= &R, g e A A SUS g Rwars|
ST Ui B UgHR A IR WM 9T U= P Swi¥ garsy|
TY: FaRe 3 dgdt ok gl Bew A dgHiaTE #) fFue saar wE1 82
1. BT BT

2. UTacHt BT

3. dRaT T

4, Xfiaa &1

Correct Answer :-

. gRar®r
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9) Rigre e 93 et A Yl arit f,
¢ WRa H off ond oy & At w1t o,

T 5% onTd) Bt Fwa He A A,

R el oY A 3t we w9 & ait
THE IS HF WG H, 98 aaaR R Y,
Y39 gael & g gra g wer A,

Te <) Wl ag o it areht T A
PHEGR & AT B, Heare gg4 sl A,
Aetars T, firar 91 a8 Tar et oft,
AT F S ygdt A 98, 7 F FT I f,
TS, T, FUI, FeR) SHST I wRedt A
R Rraro ot MU STw! arg e o,
g3t gearal & He g gt per o,

Qe 7 e+t ag o e arch I A
et ft a1 gt f 95 @i IRan FY oEaR,
3@ WIS YOS §d IHP! qaR] & dR,
THel T-o4E BT 9T 3R QA GE RoR,
= &1, gl A A A IuS g s
IR U B UgHR T IR WM 9T U= $T S} Iarsy|
TY: A A T aeiars # werh e g A g A
1. fredt o ==t

2. Yeal-gRare 9

3. IO A

4. TR B AN A

Correct Answer :-

- Saal-eRae @

10) Rigra= fRa 3 o<l A Yyt arh f,
¢ WRa | off ond o & At St o,

T g€ e B P T g R,

W fraft 3 3 Bt wad w9 A o R
THS IS HF WG H, 98 qaaR R A,
Yo geeiel & e g9 g perh @,

Te ) Wl ag o it areht T A
PHHEGR & A1 B, Heare gg4 st A,
Aeftarg A, foer $t ag Tae bl o,
AT & T gl A 8, A1 & S Geft o,
WS, T, PUI, Fer SAH! Ig wIA A
R Rraroht ot MU SHw! arg wer o,
Yo geaiel & e g7 g perh o,

Ta <) wal+ a5 o @it areft T A
et ft a1 gt R 97 T IR F oEaR,
3@ WIS TS §d ISP q0aR] & dR,
APl J5-ogg B 7T 3R o e RoR,
/= &, gl i A A IuS firg eS|
ITF U B UgHR - IR WM 9T U= $T Si¥ Iarsy|
UY: 59 Bfaar § YRd &1 g1 I ST 79T 82
1. FH A BIE

2. GGl B ¥ T-T & BRI
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3. YRd &I YR & SR
4, Y P YHH P PRI

Correct Answer :-

« HYRd &I U & HRUT

11) Rigra= fFa 33 o= 3 Yyt arh @,
T2 WRa & off o iy & R wrarh R,

Tt 5% Tt o P Te vsaE o,
ot B v &Y wee 7 § ot A
TE IS W HIGA H, T8 TAaR T R,
Yd el & g gaa g wer 4,

g a<t Uei-t a8 o i arelt = A
PFHEGR & AT B, Heare g Sl AR,
Aeftarg A, fer $t ag "a srbelt o,
AT b 1 ugdl @ g8, 71 B H @elt o,
T, era, P, et THa aft wyeh A
R Rraro &t MU Suw! arg wer o,
33 wRatal & ge g5 T der R,

e 9} At a5 @ i areht IR A
el ft a1 gt R 95 T IR FY oEER,
T WIS qufhd gid SHS! qaR] & a1,
AHell I-o0g BT 9T R Va1 gu RoR,
{1 &R, gl e A A SUS firg Rwars|
ITT Ui B UgH 1 U 9 ard U= BT Ik qa1gtl
uy: 39 Hfaar # el frd wer T 82

1. YTl & ST geriferdt 1

2. fomemT ST foR T B

3. 01 W 3Ny SISl Y

4. TP ¥ 3T IR &l

Correct Answer :-

. $is 9 31T SFkl B

12) g e I8 Tera=i A Yt arit Af,
T2 URT & off ams fhR A Tt wrartt <,

Tt 5% STt o e Te vgaE o,
ot B v &Y v 7 § ot A
TP ISt T Ta1a H, 98 aaarR R A,
Y gl & He g6 G- et o,

g a<t Uei-it a8 ot i arelt = A
FHEGR & AT B, Heare g sl A,
Aeftarg Ay, fer $t ag "a st of,
AT b 1 ugdl @ g8, 1 B F @elt o,
T, era, P, et SHa ot wyeh A
R Rrareht t MR HS! arg war f,
33 geaiel & Yo g G+ per A,

Te 9} et a5 @ e areht 7R
et ft a1 gt R 95 Td IR F oEER,
T WIS qufhd gId SHS! qaR] & a1,
APl Jg-ofg B 7T 3R VAl gu RoR,
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=1 7, gl e 3 A Sud g fRwars|

ITF U B UgHR - IR WM aTd U= $T Si¥ darsu|

TY: §H BT F YR R qa15d {5 Fafel o1 GFa fFaat ok g2
1. ORI U=TaT &t 3R

2. H BI SR

3. AR U &t 8RR

4. I BT I BT SR

Correct Answer :-

. i BIIF BT 3R

13) RigTe e S wora= 3 Y dt arh R,
T2 WRa ® off o€ iy & ot o o,

Tt 5€ Srdt ot Fea we vgaE &,

R it B v B FaA |7 § o A
TqF ISV W TIG H, 98 daaR R A,
Yoot gearal & He g9 Gt per R,

T aSt el g df SRR arel = i
PHEYR & A P, Yearel g5 Dl A,
aeFaTs A, frar 3 95 Har st o,
AT & T ugd! i 8, A & G Gelt o,
WS, T, FUI, Fer) SAF! Tg WA A
R Rrarsh 3t MU SuE! arg e o8,
Yd el & g gha g wer 4,

g A<t Uei-t a8 o ik arelt = A
el R a1 gt <ft 95 wad ke i SaAR,
3@ WIS Tafhd gid ST qaaR! & dR,
AP YG-ofg B I 3R W GE R,
=1 7, g e 3 A 3ud g fRwars|
IWT U B UgHR ) IR WM 9Td YR HT Si¥ Iarsu|
TY: 39 AT F YR W T34 P AeHars & fpaa Hr-gg9 42
1. B H 3HPT 1 191 T8

2. I8 FIA LI 8

3. AEfaTS Srom i Y srapedt W 2R

4. T HIZ-TP 61

Correct Answer :-

. Ferars 3 T Y Srdeh Tar <R

14) Rigraa e I3 Tora=y F Yyt arht R,
T2 WRa | off ong oy & it Srah o,

Tt g€ Srdt ot Fea we vgaE &,

R it B A B FaA |7 § o A
TqF ISV T TIG H, 98 daaR R A,
g0t gearal & He g9 Gt pert R,

Te 9} At a5 @ Sied areht IR
PHEGR & AT B, Yeare gg7 sl A&,
wgHIaTS T, firar 9 7 HarT el o,
AT & T ugd! i 8, A & G Felt o,
WS, T, FUI, Fer) SAF! g wRA A
R Rrarsh 3t MU SuE! arg e o6,
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gt gaal & He oo G perh R,

g a<t Uit a8 o ik arelt = A

aeft A a1 gt <ft 95 wad ke i SaAR,

3@ WIS qaiHd gid SHS! qOaR] & 9,

AP GG-o4g B I 3R W Gu R,

A= 7, gl e 3 A 3ud g fRwars|

IWT U B UgHR ) IR WM aTd YR HT Si¥ IaTgu|
uY: I AeaTs # 9AaR) 1 IR STHT B gafed gd A?
1. 3B

2. 400

3. TRIS

4. AT

Correct Answer :-

15) Rigr fRa 33 woa=i 3 ypdl arh &,
& wa & o o e @ T R o,

Tt 5¥ redt ot e we vgaE &,

R ot B v B weA 7 F o A
TP ISt T T1a ¥, 98 aaaR R A,
Yo geaiel & e g7 g perh o,

e o) Al g o i areht 7= Ao
PHEGR & 1 B, Yearel gg= ot A,
aexftarg A, far 3t ag "ar bt o,
1 & W ugedt ft @8, A & @R oA,
TSY, 319, PUI, HER STH! TE et A
IR Rrarsht 3t mur Sww! are wart A,
oot geaal & He o9 Gt por R,

Ta ) Wl ag o it areht T A
el f g gt <ft 95 W ka1 i SR,
3@ WIS YafHd g IHST aIaRI F R,
APl Jg-ofg B 7T SR VAl g RIoR,
=1 7, gl dve 3 A 3u g fRwars|
ST THiY B Tga] R IS W19 91 U BT Sk 9a1sel
WY: Tgd Bidar & ‘Rigra e 5 § fead Rigra & Ra 3o &1 o 22
1. TS SABN F

2. 3B &

3. WRai famadl &

4, TER faaeiian &

Correct Answer :-
« YR Rard &

16) TUR X1 H ABdil® a1 $ Ugelt TSI Te a9 §3 5T W1 UR ST Ieal &1 7o+ gair| Tar 3afen favar war a1fd v &) ytwn e ara @ ow § s &
IE TP | T I BT TS UTHT & YR R T8 9f®p y7ita, Ardiadr, Teph, nfe F mur w gem; 9 Ands, SWRRES R JRES | YRR I ot gasdt wdten <&t
T oY T Y| R WY 3 R o HTT Y g T o e T for 1 R Y SfRrep e T 3 U & Al el ARt R B 40% WY 98 HTwTT
21 gl gt uraral @t Ten & R F% wrau= 99 T EE F sremar, 21 3T UTHISH B VR §RT SR HIoT BT gt faar wan §1 St & 91g & Sifieir
g A S 31 RS @ A 41 o B IR T8 B g

Fg 3R T F 2 B iR 5w & d9 F Rzal & gfa A gur Ty gawan 1 3R a0 frar 81 eIl & 91¢ U o W9 9% YR & Srera fowil  $g ok
TG A TP & U] P TBR g1 et A1 I R YR | S B AT gadt B g7 A § FE WER IR T0 WER & SNSRI B @@ e Bl At Iy
PR FRT SR1-H H Tufear fRem w o€ w0l w agufy e ang @ far smar

1989 & TG W Fx B TS PR BT GR AT | FHD URUITERG-Y 5T IRHR P! Wl S T R T« § ARt &1 95 uRurdt 7% g5 | 191 Sl o Aol ¢ fo
3T WRA § T w1 S8) 3 Uad g 81 1991 B SHIUMAT ¥ FTHR HRT A 1500 SeRT-ST HITE &1 57 UTWTS &) $o g1 WIwrei & e & 3@ T 8


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

IERl & ford Wieqd, wreht, JAaast, SiaTel, I, Wiell 3R &8 o=y wrureh &Y it & g & v mar 71 fafta wrane & |g a9 & arg Wt WRa | 14
BT TS & | 3718 W/ 22 UTWTSH B AU F 3o e & SR yiwreil &t foRe & 3T T 81 377 UTII3i 1 3f-SIGRIa ST BT a1 8 |

I T Y TG A1 IS T IR BT IR T@15T

UY: 99 TP & B1 H% A WHR A A T WERI & USRI &1 1 et A2
1. 1@

2. 3Rl

3. AF-GHEE

4. 5B TRl

Correct Answer :-

17) TUR 1 Apailie eyt ot ugel FS wen a9 g8 o9 WINT IR TR I $1 7o+ gaim | T1 3ufrd fvar war arfes T & urar die aral @i v & wrea &
TE TP | T IS BT TS UTHT & YR TR T 9P yTia, Ardiaar, T&pla, i F YR W gem; 9 ANNds, SWRIES R FRTS | YR WY B gast wdten &t
TgT &1 uTaT ffY | g WU 3 e of Hrer 3 1 wrr 37 et T8 i 11 R Y snfieiRe wrer & w0 & A et AfdeT R Faa 400 R Y Argumar
21 Saierd gt uTwIal Bt &M S R B wrau™ 9910 T EE S rear, 21 3 WIS B WU FRT SRR HIST BT gl faar TaT 81 ATt & 91g & Sfidiw
g ¥ S 1 R &l A o1t w1 ot SR T A s

P 3R U5 S Rz T 3R 35T & 9 S Rzdl S qAife @ gART g gaw1 &Y 37 aa fren 21 ATt & 91 Teb o THT a9 YR S SaIeeR fewdl 3 $ ok
T T U & Urf Y TRBR g3 w1 3 AT URa § SR P Wil gadt 1 g9 A ¥y TWeR SRR Iod WER F USRI T saga-n st ft | Is
PR GRT R1-4 Hf Tufear fe@m W % wsal U= gy e ang & & smar A

1989 & TG A F% & T PR BT R 01| TP TRUTRGEY 35T TRHR $| TR S T SR I & ArgierR] @1 9 uRurdt 1o g5 | 391 HeT o Ioar ¢ o
39 URA ¥ THIY awT FE1 ATUF Uad g5 81 1991 B FHIUFT F AR YR B 1500 SET-SEHT UTHTE &1 37 UTIIs &1 55 qa7 el & Tqg & a1 T g1
IETExl & o Hiergd, wreht, gearet, weitamet, Torurh, Wieht 3k B o wrwrei #Y [t & wwe § war wan §1 AR wrei & wig a9H F 9re oft uRa d 14
T YTaTE & 1 3779 & 22 WTaTe ) WU & omed s § SrgfRra Hruel 31 foRe & 3@ T B 1 S I3l 1 Sf-SgfRIa TS FET | 81

IR T 1 UGHR 1 TR T U= BT Ik a1zl
T: YR T° 31 gt wfien & e

1. IrsguTal &t Fgfa

2. XA BT T34

3. HIWT-AIf

4. Ul 1 fafed

Correct Answer :-

o YA

18) FUR X1 ¥ AP ailIe w1 Bt Ugel FI Uie a9 g5 9 UINT R STTR IS0 HT TS goiT | T1 3afrd fan war arfes Tep & urar diaq ardd @i U & wreg
IE TP | TS I BT TS UTHT & YR TR T s yFita, Siediaar, SEph, i F SR W gem; 9 ANnds, SRS R IRES | YRR 39 o gast wdten &t
TgT @1 rar fifer | AR WU 3 e off v 3 gy 37 e 61 o 31 R 9 enfirete wrer & w0 & A et Afde G Fae 400 Wl Y Argumar
B Sl gt uTaral &t Yen & R B wrau= 991 | fEE F Srerar, 21 3 UTHISH B VAU §RT SR HTOT BT gult faaT T ¥ ST & 91g & SHfiwir
Ty A S 31 AR @l & 410 o 5 B T8 B s

Fg 3R Ty F N2A: B R W50 & d9 F Rzdl & gfa A sur Ty aw 1 3R a0 e 31 STl & 91g U o W9 9% YR & Srera? fewil § $g ok
TG A TP & U P TRBR g1 et M1 I R YR & S B WAeTR gadt B g7 A ¥ FE WER IRR T0 WOR & USRI B @gan wdl At I
PR GRT R1-8 + Tufear fem W w¢ w0l w agufe e ang &= far smar A

1989 ¥ qTG A H% A ToatH TBR $T GR IaTI THS TRUMHATERY I TIHR P! WAl S THH T T & Agier) # 7% afvurdt I3 g5 | T Hel o 9ol ¢
39 URA ¥ T a1 FE1 ATUS Uad g5 81 1991 Bt FHIUHT F AR YR B 1500 SET-SERT YUY &1 39 UTIIsi &1 55 qT HTrsl & g & a1 T 81
IereRul & R Wegt, el GReret, SR, vrorrh, et 3iR #F o yrwreit @t f{ & T B v war @1 it wrars & W e & arg W uRa A 14
T HTOTY 1 T @ 22 HTITSH Y WRIUT ¥ 3T3d SrTede & Sy MTaTei @i Rive & 7T T 8 1 3 HTATSN P If-SrfRId T FET S 81

Y TR Y TGP A1 IS T U BT S« T@1gC

TY: TS & q1G T THY 9 H5 3R AT I & fbaq ool 1 IaR Fedt?
1T

2.7

3. @4

4. 9R

Correct Answer :-

19) AR T AT TaRIT B Ugelt FI THeT 79 g8 o9 WINT R TUTRE I} BT 7o g3 | T1 3 fam wan anfds wap &) uren e aral @ v & wrea &
IE T | T I BT TS UTHT F YR TR T 9f®p y7ita, AT, Twpha, i F SuR W gem; 9 Annds, SWRRES 3R FRES | YR W9 B gast wdten &t
uwaﬁwﬁ’rﬁrlmﬁmﬁmmwﬁwwmaﬁﬁﬁmélﬁﬁﬁsﬂﬁmﬁﬁw%wﬁmﬁ?ﬁlaﬁ»—-fi%‘a%mam% Rt Yt AT
21 gaferd gadt uTwial &t e & R #$ wrau= 390 T FE F 3remar, 21 3T UTHISH B SR §RT SR HreT S gl faar wan 81 et & a1g & Siftrei
Ty ¥ g o R-fE & & A o &5t Hifkmmr a8 Y g
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&% IR I & iza: g 3R I & dig & Rdl & gte A AR SHa gawit &t iR 9d fiar 81 STeidl & 91¢ T dd G99 d@ YR & SaIerar fowdl | &g ok
I0 B T g Uil oY TRBR g wwelt <1 39 AT uRa # S 3t wiiielt gerdt B 39 A # Hy IReR SR Ied AR & fUERI B sragan st 8t e
THR GRT SRI-H ff TR fem R #¢ ) 1R Agufa e ary R far s an

1989 ¥ TTG A H% A Toat" TBR PT GR IaTI THS TRUMHTEY I TIHR P! WAl S THH T T & TSR] 3 78 uiurdt I3 g5 | T/ He1 o 9ol ¢
39 URd ¥ T gawT FE1 TS Yad g5 81 1991 Bt FHIUAT F AR YR B 1500 SERT-SERT UTTE &1 39 UTIISH &1 55 qT HT1el & g & a1 T 81
IereRul & R Wiegt, el GReret, SR, vrorreh, et siR #F e wrwreit @t f{ & T ® v war @1 faftm wrars & W o & arg W ura A 14
T UTATE & 1 3779 & 22 WIS ) WU & omed srgwde W Srggfara Hruel 31 foRe & 3@ T 81 ST T3l 1 Sf-SRgfRIa TS FeT et 81

ST T P UgHR ) D T U BT Ik gargCl

TY: TR 3 & APdie Faw 31 ugd w3 uden v9 §s?
1. TfAy™ A a9

2. AU AN FRd 7T

3. VAR Al & T34 & G0

4. frafea & g

Correct Answer :-

« YNGR 74l & 69 & 5

20) TUR X A SHdiIh STaRIT B Ugel Bl UHET 99 g3 o1d HINT TR ST o4l 31 T6+1 gaiT | TaT gaferd fvar mar aifds ua &y e ard & o €t I &
IE TP | T IS BT TS UTHT F YR R T 9f®p y7ita, AT, Twpha, 3fe F SuR W gem; 9 Ands, SWRRES R FRES | YRGH W9 B gast wdten &t
TgT Y T A1 TR AR 3 el oft urer 6 g v @1 gt Y R 1 R vt st v & wu & wrwar fireft Af R Faa 409 wredtal Y ArgTn
B guferd g utaralt 1 e F R 3% wau 591 T R F raran, 21 3= yTaret B WA gRT ARG uTeT ST gwi fur W 81 Seindl & a1e & Sftreir
Ty ¥ g o R-fE & & A o &t iR 98 Y |

g SR Ty F R Fx 3R 99 & Fi9 F Rzall & gafe F garl THiia gaw $Y 3R aa e 31 11t & 91 T & THT 9% YR & e ) # Fg ok
Iy T U & UTf B TRBR g Bt <M1 39 AT URa § SRR B Wil gadt B 379 A ¥ by TReR SRR Iod IWBR F USRI BT sragan st ft | s
PR GRT SR1-4 Hi Tufear fe@m w &% weal uR gy e ang & & simar A

1989 ¥ 91¢ ¥ Fg H ST TBR BT SR IAT| $HS TRUMRAEY I TSR 31 W T R T & Trgieri) @Y 95 uRurdt 3% g5 1 391 Hel off ol ¢ fb
39 YRA ¥ TG AT FEl 3B Yad g3 T 1991 BT FTHIVET F JHR UR | 1500 SERT-HAT TG §1 377 UTHISH 3 $© TB7 WTWiai & g & a1 T 2|
IareRul F o Wiergd), warsh, SaSt, Bae, e, el 3R 3% oy yTwrel ®) &t & e # @ man 1 fafte wrwreht & wHg ¥9M & 91 ot yRa # 14
BT UG &1 3T A 22 Wﬁﬁqﬁm%msﬂﬁzﬁsﬂqﬁmwﬁaﬁﬁmﬁww%l 3 UTHTSH P 3-SR HTHT HET ST g |

UGS TR P UGH 1 YD T YA BT IR T
wy: & 3 v ave 3t o & =9 A A= itz
1. JTTHET

2. ot =u o e

3. JIFUTST

4. SMYBTRD HIWT

Correct Answer :-

o SABING TS

21) THR 3 H Wit a1 B Ugelt St Uhei 99 §3 99 U1 R STmie Isal 7 Mo+ gl Uar gaferd foram war a1fes ve & uter iam ard @ o e d
TE AF | TS TSI BT TS YT F SHTYR TR L1 qfep N, ST, TP, SfE F YR W gaiT; I AN, ITRRAS 3R ARG | YRS HT Bt ot wdtem 5
TgT Y WT A1 TR AU A et off e &t g W 7 gt Y R 31 R 1 st Hrwr & wu # wrwan et afde R Paw 400 el @Y ARgHTE
21 i gt uTaTal Bt &M S R B wrau™ 9918 | ) S rear, 21 39 HTHISH B WU FRT SR HTST ST gl faar 74T 81 ATt & 91g & Sfdis
g ¥ S 1 R & A it o &t SR e A s

F5 3N T F exa: Fx 3R 0 F 9 F el & o | gAR Tty srawa 31 3R Ta fire 81 3ot & 91E TP o THY a9 URA P SaTera” Rl § $ ok
3T W T &) Ul Bt IRBR g3 Bl 2t 1 37 AT URa A ST B Wtelt gard B 37 R ¥ P TWER TR T WBR & ARERY B srgga st A | Ieg
WER gRT o1 W TufedT @M R &% el UR gt 2 ar] < o s ot

1989 & TG W $% F TSEY TRPR BT SR TaT| U TRUTHERSY 0 TRHR BT WA I T 3R Ta1 § WIgier) Bt 18 TRure! % 5 | 301 F8T o Al ¢ 5
39 URA ¥ T awT FE1 ATUT Yad g5 81 1991 B FHIUFT F AR YR B 1500 SET-SERT UG &1 39 UTIIsi 1 55 g7 el & Tgg & a1 T g1

TETERUI & R iergd, el Jeaadt, Diael, Ao, et oiR w3 o yTarai Y ¥ & we & v w71 Rl wmwreit & wg a9 & arg oft uRa & 14
T HTOTE ¥1 T W 22 HTIIST Y WU ¥ 3Tod SrTede § i MTuTai @Y Rive & T T 8 1 3 WIS P -SRI T FET S 81

IR T B UgHR - TR T U= BT Ik a1zl

T Iod WRBR GRT SRI-A i Taufgar femm wr el & |y« giar o
1. 3 e H Herdt

2. YT TR

3. QA H 3§

4, TGy H HHt

Correct Answer :-

RS CRUGEESINN
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22) THR U A diiAe TaeT Ht Ugell Hol YA a9 § oTd HTHT IR STUTRA 4] ST T3 g1 TH1 sferd far 1ran a1fd g gt UTaT st aret o1 U g1 I |
TE AF | TS TSI BT TS YT F SATYR TR L1 afep TN, ST, TP, e F YR W gaiT; I AN, ITWRAS 3R ARG | YRS HT Bt ot wdtem 5
TgT Y Wr Aifer 1 TR A A et off wrer 6wy W 7 gt Y e 31 i @t st wrwr & wu # wiwwan fireft) afd R Paw 400 wredtat @Y ARgHTE
21 Saierd gadl uTaTal Bt &M S R B wraU™ 9918 | ) S rear, 21 3T HTNISH B WU §RT SR HIST ST gl faa1 74T 81 ATt & 91g & P
g ¥ S 1 R & A o4 oA &t SR e A g

Fz R T F 24 B o W50 & dg F Rl & gfe A gur Ty aw 1 3R a0 e 31 e1dt & 91g U o 999 9% YR & surera? fewil # $g ok
T T U & UTf Y TRBR g3 wat At 1 37 A URa # SR P Wil gadt B g9 A § Fx TReR SR Ied WER F USRI P s@aga st At | 75w
B RT3t ot e fiem W 3% et W ryufa e ang @) R s A

1989 & TG A $% F TSEYT TRPR BT SR TaT| 30 TRUTHETY IoT TRHR BT WA & T 3R T91 A WIgiert Bt 18 TRuTd! % 5 | 301 F81 o Al & [
39 URA ¥ THIY awT FE1 ATUF Uad g5 81 1991 B FIUHT F AR YR B 1500 SET-SET YTHTE &1 39 UTIrsi &1 55 g7 Hroreh & g & a1 T g1
IaTE0T F R iorgd), weht, geae, eitadl, Iereurh, dfieh ok B s urwreli #Y R & wwe § wan mar §1 Rt wrel & wE ¥ M ¥ arg O wRa A 14
T UTATE & 1 3778 & 22 WIS 31 WU & omad srgwde F SrgfRra Hrumel 31 foRe & 3@ T §1 S T3l 1 Sf-SRgfRIa TS FgT |t 81

IR T B Ugh - TR T U= BT Ik a1zl

U YN, ST, Wepia, 3Mfe & MR W 378 | fb=1 Iaf &7 7o+ gam?
1. Haq ARTAE

2. $Id IRWS

3. Had WS

4. Iudad it

Correct Answer :-

. Sugad wft

23) TUR 3 A ANHAiAD TTRIT B Ugell Sl U 99 g5 o1d U TR TR el $1 o+ g | Tar saferd fvar mar aifds uas & v S ard &k o §t s &
IE TP | TS I BT TS UTHT & YR TR T 9fep y7ita, Ardiadr, Tepha, fe F SMuR w gem; 9 Ands, SWRRES R JRES | YRR I o gast wdten &t
maﬁw#’rﬁnmﬁm%wmmaﬁﬂgwrﬂaﬂﬁﬁﬁm%l%ﬁaﬁmw%mﬁmﬁ?ﬂla%f%aﬁmm% YRETAT F AGHTIT
21 TaRA gud Hrwrai B e & ol $F wrau TR T S F SraraT, 21 37 WIHTSH B WA FRT SR HTOT BT S a1 T @1 ST & 91e b Srfeiw
g A S 31 RS @ & 410 o B IR T8 B g

Fg 3R T F 2A: I R T5g & S F Rzal & gfe A suR Ty a1 i 3R a0 fram 81 e} & 91¢ U o 99 9% YR & SrerR fowl # $g ok
o9 A TP & U] P TRBR g1 Heet A1 I R URA | S Bt AT gadt B 37 A § FE WER IRR T0 WHR & SNSRI #Y @i e wd! At sy
PR GRT SRI-8 + TufRar e w o€ w0l w agufy e ang #= far s A

1989 & TG W Fx TS TPR BT GR AT | D URUITRG-Y 5T IRHR P! W S T SR I« ¥ ARt &1 95 uRurdt 7% g5 | 39T ST o Aol ¢ fo
3T YRT H THT gawT 81 e Taa g5 81 1991 B SUAT b JTHAR YR H 1500 SFAT-SET HIETE &1 57 UTWIal 1 $o T YIS & T9g § 3@ T 2
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=T uTaTE &1 g | 22 mﬁﬁﬁm%m&@?ﬁaﬁhﬂmﬁaﬁmﬁmw%l 3T YOI BT S-SRI HTHT HET el 21

ST TR Y TG A1 IR T IR BT SR qq9Y

" b 3R Iy & T & Rwal & qriea J Wiy srawt & 3R Fa1 foar
1. =0

2.99
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24) THR I A Wit a1 B Ugelt St UeT 99 §3 99 U1 R ST Ireal 1 Mo+ g | U i fram war a1fds ve & wter diam ard @ e e d
IE TP | T IS BT TS UTHT & YR TR T 9f®p 3y7ita, Ardiaar, Twpha, i F YR W gem; 9 ANNds, SWRIES R FRTS | YR W9 B gast wdten &t
Tgi @1 raT ifer | AR WA 7 el +f HIeT o g *I P71 gl 61 A 31 T B st wrer & w0 & A fedt | Afe [ dae 400 W Y ArquTeT
B gafed g utarsit 1 Iem F R 7% A 591 T F F sraran, 21 3= yTare B WA gRT SGIRIG UTeT ST gwi fur W 81 Sendl & a1g & Srftreir
T ¥ o R Qe & o1t 9 &t SR e B s

5 3R 7w & R F5 3R wsw T 9 Redl & gfo & gt wefty srawut ) o) g frem 81 1ITd) & 918 T €9 WY 9% HRA P SUIera e # $y ok
Iy T U & UTf Y TRBR g wet <A1 3 AT URa § SR P Wil gadt 1 379 A ¥ by TReR SRR Iod IWER F USRI BT saga-n st ft | Ie
PR GRT R1-8 i Tufear fe@m W &% w7sal U= Iguf e arg & & simar A

1989 & 91E A $% F TSEYT TRPHR BT SR Tl 3D TRUTHERSY 0 TRHR BT WA & T 3R a1 & Wi} ot 78 uRurdl 3% 3 | 391 F81 o Ihar & 5
mmﬁmwwmm'{s‘%l 1991 Bt FRTUFT F SR YR & 1500 STT-SET UTHTE &1 37 UTWIs $t 5 qa7 el & T & a1 T g1
IeTeeuT & R WSTg, wreht, gReraet, SRS, Trorr, aftelt 3R #F o uTwreit @t & & Tgg ® v mar @1 At urarsi & Wi e & 91g W uRa # 14
=T YToTE § 1 3 22 Wﬁﬁuﬁ%%aﬂﬁaﬂ@zﬁmmﬁaﬁmﬁww%l ST WIS BT S-SRI TS FgT el 31

IR T B UgH ) TR T U= BT I« a1zl

TY: AR WY A 5yt Y gyt 1 3wt o 32
1. 3SR

2. Rl

3. dffe

4. {0 ot =it
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IeTeR0T & R Wegt, el GRerert, SRS, wrorrh, fteft siR #F e yrwrait @t & & Ty & v war @1 At urarsi & W e & arg W uRa A 14
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UL T P TR 19 TB Y YT $T ST qa1SE|
wy: &Y & 3ramar forasit g wTwIa &Y SrgfRra uTw &1 guf fear mar g2

1.21

4.20

Correct Answer :-

o 21

26) THR 3 H Wit a1 3 Ugelt HSt udei 99 §3 99 U1 R STUTie ITsal &7 Mo+ g3 | ¥r saferd fram war a1fds ve & yter iam ard @ e g §
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T YTaTE & 1 3779 & 22 WIS ) WU & omad s F SrgfRra Hrumel 3t fore & @ T B 1 S T3l 1 Sf-SgfRIa TSI FET | 81

U T Y TEHR T I 7Y U= BT I 1Sy
wy: &) fraa uferra w9 wrqamoT 82
1.30%

2. 10%

3.40%

4. 20%
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o 40%
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4. 9gHd B WHR

Correct Answer :-
o YT WHR
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TgT Bt WTn A1 TR AR 3 el oft wrer w5 g v o7 et Y e 31 R vt st v & wu & wrwar fireft Af R Faa 409 wreltal @t ArgdTn
21 TaRA gud yrwsi A e S ol $F wrau™ TR T S F SraraT, 21 37 WIHTSH B WA FRT SR HT6T BT S a1 T @1 STeid & 91e & Sifeiw
T ¥ R 1 R-EE &l & 10 9 o5t SR g Bt s

Fg 3R T F N2A: I R o8 & S F Rzal & gfa A sur Ty cgawat 1 3R g frar 81 eIl & 91¢ U o 99d 9% YR & SrerR fewl # &g ok
o9 A TP & U] P TRBR g Heet A1 I R URA & S B AT gadt B 37 A § FE WER IRR T WOR & SNSRI FY @@ e wdl At sy
PR GRT R1-H + TufRar e w o€ w0l w agufy e ang#= f&ar s A

1989 & TG W Fx TS TPR BT R AT | 3HD TRUIRGSY IoT ISR B! Wl S T R T« ARl &1 95 uRurdt 7% g5 | TAT ST o Ahl ¢ fo
3T YRT H THY gawT 81 e Taa g3 81 1991 B SUAT b IR YR H 1500 SFAT-S(ET HIETE &1 57 WISl B $o T U & Tqg § 3@ T 2
IeTeRul ¥ ford Wiergd, warsht, Geaest, Biad, IeRT, ofielt 3 &% oy uTwral ®) f§dt & wige W @ man 31 faftem urwrsit & wHg I9M & 91 ot uRa # 14
BT UTITE & | 3718 W/ 22 HTWTSH B TIUTH F 3o e & SrIgfIa yursif &t fRoRe & T@m T 81 37 UTII3H 1 3f-SIgfRIa HTST BT ST 8 |

ST TR Y TG A1 IR T IR BT SR qqSL
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1. 105

2. 102

3. 110

4. 114
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« 114
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1. g &

2. for it

3. Sl &t

4, A B
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g ¥ fFH 1 R 8 & At o o5t wfRrer - Bt s

Fg 3R T F 2 B R To0 & o F Rl & gfa A gur Teiia awi 1 3R a0 e 31 STt & 91g U o W99 9% YR & surera? fewil § $g ok
TG A TP & U B TRBR g1 et A1 I R YR & I B WereR gadt B g7 A F FE WER IRR T9 WOR & USRI B @gen wdl Bt I
PR GRT R1-8 + Tufear fem W w¢ w0l w agufe e ang #= far smar A

1989 ¥ TTG A H% A ToatH THR $T GR IaTI THS TRUMHETY I TIHR P! WAl S T T T & TSR] # 7¢ uivurdt I3 g5 | T/ He1 o 9hal ¢ 5
39 URd ¥ THIY a1 FE1 ATUS Yad g5 81 1991 Bt FHIUHT F AR YR B 1500 SERT-SERT YWY &1 39 UTIISH &1 55 qT HT1sl & Tqg & a1 T 81
IereRul & R Wiegt, el GReret, SR, vrorreh, et 3iR #F o yrwreit @t f{ & T ® v war @1 faftm wrars & Wi o & arg W uRa A 14
wmélﬁﬁﬁzz W&ﬁaﬁaﬁm%&mﬁ&a@zﬁ&mﬁam&ﬁaﬂﬁwﬁwmél ST U3 T 3-SIGfRIT TS FHeT ol 81


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

UL T P TR 1Y T 7Y Y27 $T SR Ta15T|
T: UTITIR I} BT TS 1 fowar Tn?

1. eI AT & forg

2. T&hal & fag

3. 3RgSaT & forg

4. T UIWT-HTH Sbg T
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Topic:- General Sanskrit(L2GS)

1)

AR WA (W) aradihd: Hrergehrer: 3Red-
3TSCIGRT aWIfoT
g gyITor

1

2.

) Afor guifor
Zer gyifor

4

Correct Answer :-

T gEIfor

el afdcar sNfAfeTee 9o YeHceR FaId -

ATATEFAAAT: 1 ANl F>oie AT |
3TEUAHA GHA AT JAT A g |l

AT dsg AfAATAE FeTFTAVT: |
TGATcal 7§ $AIsTaCATIAT AT I

“FEIEIIAVT:” 3T UGy di-uideae: 3HEd-
| F&TIA+37AYA:
| TGV
| FEATFIRA+SN:

, TP +AFIRN:
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_ JEATTA+31AY:

3)

IRTIC UfSaT TRATT AGeHAR JAAd -

AN TEpT ALY feear MR depasmst | dgaroft, e,
Veychiel STEaT: A | 3 AT Taeaey Uil Hy ey 9ReToad |
ST Hdr Urllel: Ieer: Hade: T | AT FEpaenyae va faegd
| TRTCIeIST 3TUSIRIANI: 3cToaAl, TTSRASTST UThcleTNIc: T HEhcI NI
3T | YRAUT R FaT 3 JMEfAFT: 6T HEHAsTIAT: ATl
TeHIOT I[eicar Shafed | adar favier, fAusser, WAA, savheH-
AT T TERAANT | U FAIURFTooAT TFxpaaeddl 6T 3Hear A1ed
TOR | 3T AR WecaAT giaered, Weeed, Al-faaeeuesd T
AT | AG-TEAU-3RUGh-39TAYE-NS  GUA-hlcd-aT1ceh-Tehiehl- g -ahal-
IMT- AR AR - S A TR T IEH- 3T AR/MEH-3T G- IS AT -
Afa-vefd-gerarededr: fdeara: 3idla dfehar: 3Hde | &A™ Uq
HANLAET Fiﬁ;ﬁ':, JEAMcHASET  AGE, YRERT:  98adR™n o
UhEIRIOTHISSTT | T: TEPASS o USfd & UaEA FAUSEINI
afaa: oafad | Redr 3T EATS TSCHIT | T: HEHAHTS AT &
fecreeT faeivaar ArgHela, Id: Redr oo Fatet arienfee ereame
HERI-TNT-USTATNIG, U I[E0TT |

FIde: s 3T AfeerfEd-

Correct Answer :-

. ST
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4) .
9@t Ufdear reifAfesee Jeaed YeHcel T -
HTATEFIAAT: 1 AT Iole AT |
3TEIHA FHIA AT JAT AT T |l
AT dsg AAAAHE FETFTAVT: |
oallcal o6 AIsedoalacaAaresad |
arel: A eaHaT: Safefa 3mer:-
| HeaH
LA
. AR
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TRTte gfecar 9eaEg QAG@G‘IQ gaad -

ﬁﬁﬁﬁlﬂmmﬁlﬁﬁﬁﬂz ﬂ?:laGr:&ﬂ'U'mﬁGﬁﬁgH
AFAIT | AGET FAMOT Ygfed: ARLAT TT Hafd | ARA-HAT
ARAIERAT F IRSH T ifad | F IR%FA Far Faaedday st
arafad &1 Iqﬁ"ﬂﬂﬁm%ﬂéﬂ@ﬁﬁﬁz, Hég:@ﬁ'qm: d-Je1agIT:,
aFaeIfzar srafa Aa: | &9 WH AogATE: AARNRGAT fioafed,
fohr & AW weafdgsiald AARYAGOT | 3d TAE AfdPR:- “Iegaed
@eeafea FNOr 7 #6RY: | A grawr feea videfea g@ Fam |
3eaH fh F @redd ? A9 aUseIadIde: 3eaetT HAYg
HHAAATIRITS ed UTfOlel: | ¥l Ife &A¥], disiaud, Selds I 2T
Frer 7 fagqenfa, &9 WA A=A T va fassfa & qvg gwawfta:
gARAE ' ?  AfAuREAvd sEever: §HE Ud Fedied,
TFoeared sfafed | Rffoe sefiereammcn et sisaaents
HIEvIied | U199 aug W el Sedied | 3GHRIAT: UIvlered vd
fad  dFchrer  aurdifsar  Sllad Fefed | 3CIRTRITCTRSTET:
TETEAC Alged | S J IEHON [UcT SITATTEIAET 3O
R |

ST AT FAGEA>ad:, Fag:@idUea:, HIdsTdEI: ofafa-

o R
Correct Answer :-

. g

V goie: aREde Regamspast w@ - s
sferer: Relodares 3o a=y Teda

S EEA

2

goelt

3.
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. IEECIE

Correct Answer :-

.ﬁaaTafr

) ATESYHIUT Yehreleh: [aAdHheT HITATET-

| T 3R FOURME

§  RIERRICEI]
) CIEGE] ﬁmlam——aﬁ
, ¢ Irorafd eme

Correct Answer :-

 fe arogfa e

8) . .
URToe Iocar 92+ YA FaId -

HATOT UgfcadAleiasd TATATIdehT | HHIde: Heol: &TUTATY Siidd o
AFANY | AAIET FATOT Ydfed: HAwdT T #HAld | dRAHHAT
AHAERTAT § 9RMA T &fd | o 9ReA a1 seaareqaa &
g & : | afeEdEl R sdgedia:, ¥ag@avsd: #9-3s1agn;,
gagarerifsar stafa Aa: | & UH A-TAET: AAERAATE Norafed,
forrq o aw oeaf@esiafd AARPART | 3Hd TaE AfdeR:- “Iegded
feeafea rifor 7 #6RYe: | A geaer Reew vldufea g Fam |
3eTA fb o gead ? @ aUseuadnda: ELUIE E ORI |
HHAAATIRTS ed UTfole: | ¥l Ife &s0], disiaud, Serds I 21
Frer o fagenfa, &8 WA A« I va fassfa & qe7 uwawfta:
TANTHRT T ?  AAURAATI  SFRYe: HAE U Fedied,
HFOoored dfed | Odiforsr gfiemeanmasica @A sicauerie
HIEUTod | JaAed aug W dldl Hedied | 3GHARIAT: UIivleied vd
fd dhewrer  gumdifsan:  Slad  Tefed | SeIRRIERSHET:
gdefieRcid Aleed | S IERYl WUT STATCIETAET 3O
R |

frdiferer: #ar sieaTeraia TIevrfed?
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9)

U=de 9focar 92Ty ﬂagagcdi AT -

AN TEpT AL feear AMdoemdr depasmst | dgaroft, e,
veychifel 3ream: Al | g & favaed urdieaAy sy aREuad |
ST @adr urdlet: Ieor FKede: Afed | AsfU Fepase v fagad
| TRTCIeST TTSIRATI: 3cToedl, USRS UThIHNI: T HEHIHINI:
3T | YAUT R FaT 3T JEIfAFT: s TThasivIAT: ATl
HewIor Fjgicar Shafed | adur faerer, f@sesr, wemem, savshee-
AT T AEHAANT | U ARIURIF oAl TEpaesl 89T 3121 A1
AN | AT AT WiiecaAT iawel, WHeed, A-[aAe e T
AT | AG-FEAU-IRUTh-3GAYE-NS  GeA-hIcT-aA1ceh-Tehlehl- oY -haT-
IMAT-HT & AR - T TP elTIEA- A RIEA-3 G- IO AREA-S AT -
THfd-gefd-ceraredear: fdeama: 3idld dafehar: 377ae, | HEpde™ U
ARG H&hd:, JMAcHSET A, YRERE  #@IdRr: 9
UhEThIUTEATASIT | T EEPASANT o USTd & UAEHAI ATTHIUSEIRI
afa: safd | Redl eI EATH USCHYT | I: HEHIAN A=
feecrenmi faelvear Aq#eld, ad: foecl T Fd= arienfiee, erar
TESHA-HTVT-HIUSHINIG, UF IEonf |

H@Eﬁlﬁ%ﬁg Uch: IPe2l: Hi-dgd\ ATTed-

3TE
2. i
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4. [ -
Correct Answer :-

W SR

gaieht afdear sreifafésce Yeaed Yedcel Faad -
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UehETP{UTHTEIASIAT | U: HERASST o USTd & TAEHAI ATHASUSTRI
afga: #afad | Redr 3cTa 3FEATS TSI | T EEHAHTT AT &
feceremmi faelvear Aqaeld, ad: fowdl T Fd=f aienfiee erear
TEHI-HTT-$USETNIG, Vg I[E0nfd |

S9Td: gadl e A< 3THRET-
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HIEUTied | YaA99 Ny WA Al Hedfed | 3EHAEIT: WIioleled Td
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REEAC Aleed | S J R0 U SaAvesIAET 3o
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, Tguy S
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3. Qm‘
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Correct Answer :-

Topic:- Social Science (SSC)

1) A situation where the number of workers employed in a job are much more than actually required or in other words a segment of the population not
employed at full capacity is known as . / O R wrgi fmit 1oy & T Y ot ot e o § Sraxg® & Siftrer gt € O g wreal o
T T U fRwar o Ot grrar wR &1 & 8 e g, S & = § ST STt B

1. Involuntary unemployment / 3T H RISHIR
2. Voluntary unemployment /ﬂ'f%ﬁ'? EREDIR

3. Structural unemployment / ETHD SRISRTRY
4. Disguised unemployment / U39 ERUEHIR

Correct Answer :-

« Disguised unemployment / U=9d ISR

2) Who believed that learning should be ‘the realization of one's full potential and the ability to use those skills for the greater good'? / fae®T AT Ut
o arftrmy, fpedt &5t Gt et 3R Sif¥re | it S & forT 39 PN BT IUURT B St & $t Wit g1 AIfRe?

1.Dr. Y. K. Singh / ST, 918, &. g
2. John Dewey / i :5.'13‘:

3. John V. Michaela / 51 dT. fBr<ianm
4. Charles Beard / ATeY 908

Correct Answer :-
« John Dewey / iG] E‘sp

3) BPL stands for L Sfita s fegaEr R
1. Base Poverty Line /éﬂ uﬁ‘e"faﬁq

2. Base Price Line /aﬂm?ﬂg:f

3. Below Poverty Line / o tlﬁﬁk_*l'lgq

4. Below Poverty Level / o uﬁe“féﬂa’

Correct Answer :-

« Below Poverty Line / foen qﬁﬁﬂ éq

4) Which among the following is the main industry of the MENA region of the World? / faff@ad e ar fay & o= (Q’H‘{'QH‘I'{) PEKD qS1 I %"
1. Tourism & Hospitality /TdeA 3R 3nfae

2. Mines and Minerals / T Gﬁ?@fﬁa

3. Petroleum / ﬁ@ﬁ«mu

4. Manufacturing / fafamfor

Correct Answer :-

o Petroleum / ﬁ'@ﬁﬂm
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Match the following Sufi Saints with their Silsilas:

1. Nizamuddin Aulia | A.Nagshbandi
2. Bahuddin Zakariya | B. Qadiri

3. Ahmad Sarhindi C. Chisti

4. Milan Mir D. Suharwadi

| PFAfafEa gy ddt w1 39 Fafaat @ faes s

1. forsmEer o | AL sererEdy
. JET3EId SARIRAT | B. FHIEIr

. 3gHC Tligear C. feredt
A #r D. geIarsr

2

2

I e

1. 1-B,2-A,3-C4-D
2. 1-A,2-C,3-B4-D
3. 1-A,2-B,3-C,4-D
4. 1-C,2-D,3-A,4-B
Correct Answer :-

« 1-C2-D,3-A4-B

6) A ship starts its journey from Kandla port on the west coast of India for Kolkata Port on East Coast. Which among the following is a correct order of
the ports of India coming on the way? / T% SIgTSl HRd & Uf3f d¢ W Bisdl dwile A Tdf 9¢ R HiadTdl S40e & oY 3ru= amsn 3= &ear 8| Fafafaa o
Y B I F A 91 YR & TG S| BT U el 5 22

1. Mumbai, Cochin, Tuticorin, Ennore, Paradip / Hﬁé, ﬁ%ﬁq, Eja G i’:|, Q'Ei 3, UR dly

2. Mumbai, Mormugao, Cochin, Ennore, Chennai / Ha’s‘, InTﬂTITGh, ﬁ?ﬁ:f, Q'}i 3, aﬁé

3. Mumbai, Tuticorin, Ennore, Chennai, Vishakhapatnam / Ha‘s‘, ﬂ(‘i G ?:1, Q:_>i 3, €|T>|_§, famRargTH

4. Chennai, Vishakhapatnam, Haldia, Paradip / €|$rs‘, ﬁwq?m, E'm, ORI

Correct Answer :-

« Mumbai, Cochin, Tuticorin, Ennore, Paradip / Ha‘:f, ﬁ%ﬂq, Eja ® 3, Q:;i 3, URTE

7) In the sea, plants are restricted up to the depth of

1. 1000 meters / 1000 Hex
2. 200 meters / 200 Hiex
3. 20 meters / 20 Hex

4. 2000 meters / 2000 Her

Correct Answer :-
« 200 meters / 200 ez

8) The gold coins of Vijayanagara empire was not called as / faSTR ST & W & Rygw] Ht g8 7Y HeT orar o1 :
1. Hon/a:f

2. Varaha / dRGI

3. Gadyana / ORI

4. Niska / %1
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Correct Answer :-

« Niska / AT

9) When did the National Food Security Bill introduced in India? / HTRd ¥ I8 QeI WR& fA99e® o9 yega fear mam
1. 22" December 2011 / 22 fa=&R 2011

2. 22" December 2012 / 22 fadeR 2012

3. 228 December 2014 / 22 T&HR 2014

4. 227 December 2013 / 22 f&¥aR 2013

Correct Answer :-

« 220 December 2011 / 22 T&TaR 2011

10) Who said that “Curriculum is a tool in the hands of an artist (teacher) to mould his materials (pupils) according to his ideals (objectives) in
his studio (school)”?

1 fraa w1 6 uTeuadl T HereR (i) & g1y A Hive 98 g @ o a7 3w et (v # 3o sl Sz ¥ IgaR
St It (faenffa) ot grer W

1. Munroe / m

2. Arthur Cunningham / MR S ey
3. Robert Dahl / J&¢ Slgd

4. H. L Laswell / T4, Tel. SRFad
Correct Answer :-

« Arthur Cunningham / 3miR Hfey

11) Who described the role of Prime Minister as ‘the linchpin of Government’? / e s ot "{ftﬁﬂ' P PR Dt ferafomT (gﬁ Ed|
HId) IdMT?

1. Jawaharlal Nehru / SIdTgX ATl ﬁTEQK

2. Alladi Krishnaswamy Iyer / 3{CTITg] W SR
3. Dr. Rajendra Prasad / 31, o= udTe

4, Sardar Vallabhai Patel / 93qIR ac_m'ln's‘ ued

Correct Answer :-

« Jawaharlal Nehru / SIdTgR ATl ﬁgg

12) Only two Asian countries are in 1GW country club of Geothermal Installed capacity. Which are those Countries? | pad ﬂﬁﬁ'lmﬁ ER| Y-
AT HRATRIE & & 1GW IV TG R I I P A T2

1. Malaysia and Singapore / qafRmr IR IR

2. Indonesia and Philippines / SEHRMET 3R foreiidia
3. Laos and Cambodia / 137 3R daifsar

4. India and China / HRd 3R 7

Correct Answer :-

« Indonesia and Philippines / SSHRmT 3R frdidia

13) Committee referred to criminalization of politics hinting at close nexus that has come to prevail between the politicians and the

criminals. /_____ ATAf A Ao F Srarreeor 1 frep v, <t Aanait o arRifirdt & e uftrg dey & wwm ama g
1. Santhanam / GYH

2. N.N. Vohra / T. TH. AIgT

3. Shri K. V. Chowdary / $t &. dt. et

4. Shri Sharad Kumar / 4 *R& $HR
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Correct Answer :-

« N.N. Vohra / €. T, EhETr

14) are societies which offer credit facilities for a short term to the farmers. / q g % Wit fram=l &t sreurafy & ﬁI'Q'
B AT U I &

1. Programme for Agricultural Credit Supply (PACS) /@iﬁw &rrq[ﬁ%ﬁmao‘rdw (tﬂ'Q?ﬁ'Qﬂ)
2. Private Agricultural Credit Societies (PACS) / ot Y Wrg SfAfaat (diusiew)

3. Primary Agricultural Credit Societies (PACS) / WTfH Y wrg Afafaat (diusiv)

4. Personal Agricultural Credit System (PACS) / SGeTd P 0T HUTTRlT (FIU=iTH)

Correct Answer :-

« Primary Agricultural Credit Societies (PACS) / It Qﬁﬁ grg afafaat (W@)

15) is a writ issued to restrain a person from acting in a public office to which he /she is not entitled. / Pt e sa

AP PTaterd & S $3 @ Ao & g o e mar wrew (Re) @ R a8 sifterd T8 81
1. Mandamus / TRATSRT

2. Quo warranto / 3TUHR GadT

3. Certiorari / 3ITUT

4. Prohibition / UfcT8Y

Correct Answer :-

¢ Quo warranto / IfIBPR =31

16) Howard Gardner proposed: / 3-13'[5; MR A ywanfa faar or:
1. Theory of multiple intelligence / a’g'-a?@w &1 Rrgid

2. Two-factor theory / PR Rl

3. Multi-factor theory / §g-PRd fRrgia

4. Group factor theory / T'I'I'E_[%?ﬁ PR RIgid

Correct Answer :-

« Theory of multiple intelligence / a@a‘r@m CANR LS|

17) A social science teacher is expected to be an epitome of democratic virtues. Which among the following is a democratic virtue? KIESED

fagm & Rieres Bt drwaityes TN &1 wdie a1 war 8 | FafifEa 8 @« e aeaite qure?
1. Students have the liberty of attending the class at any time / faenfifat o fareft +ft T wem & Iufyd 8 &) WA 8|
2. Distribution of questions among the students / fenffat & weit &1 faaRon|

3. Accepts and invites differences of opinion from the students in a positive way / HPRIHD =Y Y faenffat § Aavel & WeR &l § SR mHka
HAB

4. Maintaining strict discipline in the classroom / P&l 2R3 rCs | SR &A1Y QAT

Correct Answer :-

« Accepts and invites differences of opinion from the students in a positive way / HHRIHD =Y Y faenffat § Aavel & WeR &l § SR mHka
HAB

18) The major demerit of lecture method is: / SIS faftr et g {qIuT &

1. It is a time consuming process / g Uh JHY NECIRIVIERIE]

2. It reduces the attention span / dg ST 3T HH B a_tﬁ %I

3. It encourages learning through divergent thinking / Ig fafera ficm & Arem 9 SifoRT &) drenfed St % |
4. It discourages self-effort by the student / g ST GRT MTH-UITH ARSI ERG |

Correct Answer :-
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« It discourages self-effort by the student / I8 ST GRT HTH-UIT P galcled Bl gl

19) The purpose of punishment is to decrease the frequency of _ behaviour. / ISIT BT B%W _ 9dgR @t 3I'I§ﬁl B HH BT %I
1. learned / S1RATRG

2. undesirable / SATET

3. positive / JHRTHD

4. desirable / S

Correct Answer :-

« undesirable / TSI

20) The is indeed the foundation of socialization because it is the first contact of the child. / IIEIq # GHSI®R Bt g %,

w95 ft 9= 31 ygar €U gar g1
1. neighbors / q@?ﬂ

2. family / RAR

3. peer group / i qgg

4. environment / GafaRUl

Correct Answer :-

« family / GRAR

21) The Constitution has fixed of the total membership as quorum for both Lok Sabha and Rajya Sabha. / TR A AUt 3R

IFYT Y F g prfarg ven (@R Ul pavema sl FRuffafear g
1. half / 38T

2. one-tenth / Udh-G4di

3. one-fourth / TH-TMITS

4. one-third / Th-fIgTs

Correct Answer :-

« one-tenth / Uh-GHd|

22) Group activities are the cardinal exercises in collaborative learning, which are aimed to: / THg forarmary "\‘IT{%EF Rigror # =T ™ ?,
Rrersexa A &:

1. Boost pride among the students / faenfifat & srerfasyma Jel-T
2. Reduce the burden of the teachers in their instructional style / Rl & sigr B ! AGTEd et H H HAT
3. Make the classroom active and participatory in nature / P E&T i Q@ﬁf o g 3R Ul s

4. Generate synergy among the members of the group / 9Hg & ol & o draad S

Correct Answer :-

« Generate synergy among the members of the group / HHg & Yol & S dTaHd S

23) Which Five Year Plan was drafted under the leadership of P. C. Mahalanobis? / Pt vaadfy giemn ¢, meraifew & ?rqa A RR
CARIERI K

1. Second / ﬁ?ﬁ'q
2. Fourth / it

3. Third / I

4, First / UYH

Correct Answer :-

e Second/ fa?‘ﬁ'q
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24) Which of the following is commonly used to record the informal teacher observation regarding students in and outside the classroom? /

fPBT ST AHIG: BeT & e 3R aTeR fyenfiat & fawg & sritvaTiie Rige sadied ReTs w31 & oy fear wmar 82
1. Cumulative record / Sadt RIS

2. Checklist / STd-gat

3. Rating scale / 9 &R0 719

4. Anecdotal record / SURSAHTHD RPbls

Correct Answer :-

« Anecdotal record / SURHMIHS bl

25) Which among the following is typically used to display all kinds of creative works of students in the classroom? / P&lT o faenffay & waft

TPR & TIATHS ST B UGRId $31 & forg Frafafea & 3 fewe suah fafke wu & far srar g2
1. Flannel board / Tl §1S

2. Black board / GEHII a8

3. Peg board / T &1

4. Bulletin board / §aife a8

Correct Answer :-

« Bulletin board / W EIS)

26) Where do Nyaya Panchayats prevail? / =TI U Pl yeferd 82
1. District/ﬁrﬁ'ﬂ

2. Village / Tiq

3. Block /S_Q'Iv'l—fb_

4. Corporation / |

Correct Answer :-

« Village /i

27) How can a social science teacher effectively and experientially transact the concept of sustainable development among students? / T

arfore fagm Rigre faenfRiat & waa faers & sauron H gurd 3R SUaTas ¢ d $A UdY H THdl 82

1. Conducting brainstorming session on sustainable development / Hdd (ECARSASHS m (aﬂflﬁl"l) T eI |

2. Showing a movie on environmental preservation / e TREOT TR % e feama |

3. Undertaking a field trip with the students to an ecological hotspot / faenfal & Ty ves uRfufdeiy glewie W U &7 a1 &1 S1id das |
4. Delivering a lecture on sustainable development / ddd AT IR IR <R

Correct Answer :-
« Undertaking a field trip with the students to an ecological hotspot / faenffat & ary Th TiRfRufaeia gleddic ) Uh &5 T BT gid AR |
28) How many types of urban local governments currently exist in India? / HIRd # g9 A fhaq YR &Y 3213'\& T TR %'?

1.6
2.7
3.3

4.8

Correct Answer :-

29) According to the State Banks (Repeal and Amendment) Bill of 2017 which among the following subsidiary banks of SBI ceased to exist? / 2017 PR CCd

(PR 3R T=ieF) f3dae & SR Tdieng & fafifaa e Terae &1 & A B9 |1 ¥ 8 ST
1. State Bank of Karnataka / LT 3P 3 Hicsd

2. State Bank of Punjab /@?% 3Th USTTS
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3. State Bank of Meghalaya / %€ S {1t HaTeR
4. State Bank of Travancore / e b 3T AGUBR

Correct Answer :-

« State Bank of Travancore / éﬁ'% 31w W

30) What does Pir mean in Sufi tradition? / '\TT& WRITA TR STHT \'ﬂﬁﬁ?ﬂ %‘.’
1. Supreme being / UXHTHT

2. Greatest of the Sufi saints / {[qﬁ ol & w9 78

3. None / 3’73[59 :ng

4. Spiritual Guide or Elder / KitsicE s m a1 W

Correct Answer :-

« Spiritual Guide or Elder / 3eATfdies ANfe=ie a1 gupif

31) What is not true about Raja Ram Mohan Roy? / TSIl ITH 'Fﬁg:f I P IR A /I qﬁ%"
1. He abolished sati system. / 3817 Tl U1 &) JAT fobam|

2. He founded Banaras Hindu University. /I8 FIRY %ﬁ fayfaaea & R 31|

3. He founded Brahmo Samaj. / 381 SIe THIS B! TG B |

4. He was an advocate. / dg U TP U

Correct Answer :-

¢ He founded Banaras Hindu University. / E@ﬁ IIRY" %g ﬁ%ﬁm I R BT

32) What is true about Simon Commission recommendation? / JIgHA HHRA Y R{BTRY & 9R A 71 I %?
1. Abolition of Sati / <t UUT HT I

2. Abolition of legislature at Centre / g ¥ fauTfieT &1 3w

3. Abolition of Child marriage / &Td fqaTg &1 I

4. Abolition of Diarchy / F¢ I BT IHTH

Correct Answer :-

« Abolition of Diarchy / ¥ M DT ST

33) Bhakti cult was spread in Maharashtra with the teachings of . /_%I'Na'iﬁ GRIESRU) HERTY o Har Tl
1. Tukaram / JPRH

2. Jyaneshwar / AR

3. Ramdas / JTHG™H

4. Chaitanya / GGk

Correct Answer :-

e Tukaram / {PRH

34) Quantitative restrictions imposed on imports to encourage domestic production are known as ./ ‘Eﬁqa‘cmaq P Hicfed B+ & forg smara
R WY ¢ AIEATHS Ufady ST FFUATETAC@R

1. Tariffs / UR[ch
2. Subsidy / TR (Hfeqa!)
3. Quotas Ikamai

4. Embargo /WWU

Correct Answer :-

« Quotas / BIeT

35) First five plan was based upon which popular economic model? / wyH Yaadfa gieT 59 aeia snfie atsa wr surfya &
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1. Lewis Model /@gﬂﬁl@ﬂ

2. Mahalanobis Model / ]:I—El'lﬂ:h'm Oisd
3. Cobb-Douglas Model / Pla-STg AlSd
4. Harrod-Domar Model / %ﬂs’»‘eﬁﬂ? Arsd

Correct Answer :-

¢ Harrod-Domar Model / %? S-SR Alsd

36) Which Sufi saint propagated that devotional music was essential for being closer to God? / fra ?ﬂﬁ' a7 yaR fopa 7% ufew '\‘Fﬁﬂ, YA & B
T & g smazg® @2

1. Saikh Muinnuddin Chisti / 28 HIgJg - ferelt
2. Shekh Alam Bukhari / RRG 3T §@RT
3. Syed Muhammad / g JgHa

4. Kwaja Fariddudin / 4TSl 2% 3\§€f Bl

Correct Answer :-

e Kwaja Fariddudin / @WW@:{

37) Which were the two cave paintings of Gupta Period? / [ PTel Fa o1 fEsRI
1. Ajanta and Bagh / 3fSfdl 3R Tg

2. Ajanta and Ellora / 3fSidT 37R TART

3. Lomas Rishi cave and Bagh / @A 5 16T 3R a8

4. Ellora and Bagh / TART 3R s

Correct Answer :-

« Ajanta and Bagh / 3rSidT 3R &9

38) Which Women leader represented India in Second Round Table Conference? /T afgan Aar A g Meds J@as o uRa 1 wfafHfia e
1. Sarojini Naidu / SRS Arag

2. Aruna Asaf Ali / 3fUTT 31Tt 3feit

3. Kamala Devi Chattopadhyaya / &HdI EGil E@Tﬂm

4. Vijaya Laxmi Pandit / oo @eht ufsa

Correct Answer :-

« Sarojini Naidu / SRS 1ag

39) Ryotwari System was first introduced by Thomas Munro in . /W ART T tl?ﬁ Jier) '{:FR’T GRT_ | = Eil 11'5‘ Rif
1. Bengal Presidency / Te SRS

2. Bombay Presidency / i Rfret

3. Madras Presidency and Bombay Presidency both / T RIS 3R st DSt it
4. Madras Presidency / e It

Correct Answer :-

« Madras Presidency / g et

40) Who won the ‘third battle of Panipat’? / “UT-d T FIERT & foram sitam?
1. Hem Chandra Vikramaditya / 39 9% faswmifea

2. Sher Shah Suri / qR M8 G

3. Ahmad Shah Durrani / ngﬁ

4. Ibrahim Lodhi / siew anet

Correct Answer :-

« Ahmad Shah Durrani / 389G T8 gRit
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41) Who was the founder of Tuluva Dynasty? /ﬁﬁam & RIS B A?
1. Deva Raya I/ TR T

2. Virupaksha I1 / foeares fgea

3. Tirumala Raya / foema ™

4. Tuluva Narasanayaka / Al TRIATIRT

Correct Answer :-

o Tuluva Narasanayaka / {dl -TRUATIRT

42) Who was not the prominent literary figure during Babur’s time? / P IR S IHT A e TIfETPR 8T UT?
1. Khusrau / GERI

2. Mulla Shihab / HIT g s

3. Sheikh Zainuddin / TG SIEH

4. Khwandamir / THFEHER

Correct Answer :-

e Khusrau / E’Hﬁ

43) During the reign of Mauryan Emperor Binddusara which heterodox philosophy flourished? 1 ¥iYd e ﬁ'{ﬂﬂ' P BT & a?Tq P T IRS
XA Ba-Ean

1. Vaisheshikas / SRR
2. Ajivikas / ffrfaH™

3. Nyaya / <19

4. Nityavadi / et

Correct Answer :-

« Ajivikas / SfTTdH™

44) Albania, Bosnia and Herzegovina, Bulgaria, Croatia, Greece, Macedonia etc. are known as Balkan countries. The term Balkan is derived
from the following landforms? / 3reaTi~aT, ST 3R FoMia=, gemivar, weRmr, W4, AVSHar enfe i arew 1N & =Y § 9HT o1 8 | TTed
Treg FrffEa y-smpfaat o | foras foram man 82

1. A Lake / T Sl
2. A Sea / U TG
3. A Mountain / T% Udd
4. A River / U !

Correct Answer :-

« A Mountain /Wqﬁ%‘f

45) Which of the following is a pull factor for Migration to the place of Destination? /Frafafaa T A B T Tqed R TR 4G S ﬁl’({ b Yeod L g-ny @iﬁ
FTPRP) 3?2

1. Unemployment / SRISATRY

2. Peace and stability / 27 3R R

3. Political Turmoil / IS gerdel

4. Poor Standard of Living / PR Sia TR

Correct Answer :-

+ Peace and stability / Tifd 37X FRRd

46) The nature of social science is best represented: / G [ B YA P A NP A exrigr s(ar gl
1. As a unified subject / T Qﬁ@_d s =g d

2. As an independent subject / Tdh T fawg & wu o

3. As a dependent subject / Tch Mk fow s wud
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4. As not a correlated subject / Uh Tgdag fawg & «u § =gt

Correct Answer :-

« As a unified subject / WWW%Wﬁ

47) “To monitor daily performance and to encourage students to reflect on their own learning.” This is the purpose of: / 3 yeRiA &1

frfteror B SR faenfial &) W &t Rign &1 ywe B & g Mieafea w11 a8 A w138 @:
1. Diagnostic assessment / EHIECR ANk

2. Anecdotal records / SURSTIE® RPbIS

3. Non-referenced assessment / 3G d BT

4. Portfolio assessment / GICWIerdl 3fer

Correct Answer :-

« Portfolio assessment / GICTHITCIAT 3THET

48) Sedimentary rock change to metamorphic rock because of which of the following process? / 3/@qTd! 9gH, BHaaia agHl # Fafaf@a & @
o uftean & wror uRkaffa 8 ot &2

1. Re Crystallization / GATSheceliR0T

2. Uplift Weather and Erosion / &I Y 3R 3Re
3. Fusion / fd@@

4. Burial-Heat and Pressure / G-dTd 3R g

Correct Answer :-

« Burial-Heat and Pressure / GI-aTd 3R &Td

49) Which among the following is not an ideal teaching skill for a social science teacher? / Frafafaa & @ e g faam Ries &
e te et e Hiwra T 22

1. Optimal movement in the classroom while teaching / fRT&f0T % SR el & gpar i |

2. Eye to eye contact with all the students / it faenfifat & Ay oivg § ofikd Wuds ST

3. Stimulus variation while lecturing / SITRHTT CRGRSL] EEACEAREGI

4. Maintaining strict and rigid discipline in the classroom / P E&T T AR BER SR &Y QT

Correct Answer :-

» Maintaining strict and rigid discipline in the classroom / D&  Ted 3R AR SR §A1¢ QT

50) Which among the following is not a type of assignment in the strictest sense? / fafafead e ﬁ'{[@ 3t o Uh YPR dI Wﬁ
T 32

1. Curricular assignment / IERRR ﬂ'ﬁlﬂﬂxﬂ:{

2. Remedial assignment / SUARTHD Wﬂ

3. Revision assignment / Eﬁﬁ'@? ﬂ'ﬁlﬂ,ﬁ"ﬂ:{

4. Preparatory assignment / URMA® ﬂﬂw

Correct Answer :-

 Preparatory assignment / URfA® ﬂﬂw

51) Globe is a classic example for: /T SHPT UDH P ¥ 3GIeul %:
1. Projected aid / W@' RICEE

2. Audio visual aid / Gﬁ%ﬁfﬁﬁ&lﬁ RICE]

3. Graphic aid / T Aq1e=

4. 3D aid / 3D 914

Correct Answer :-
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« 3D aid /3D {IYq
52) CANCELLED

Which Article of the Constitution makes it clear that Panchayat Raj Institutions have some original functions and some agency functions? /

TRIYT BT B AT TS Ig WY HaT ¢ b Tarad I T3l & $0 ga &1 3R $0 siftravor (gaith) orf §2
1.243-E /243%

2.243-G / 2435

3.243-F / 243-T%

4.243-0 / 243-301

Correct Answer :-

. 243-G /24350

53) CANCELLED

Who among the following influenced the development of Project method?/ fFrafafaa & @ feam ufdsmn UGt & fawr &1 gurfaa fean
1. Socrates / JPId

2. John Dewey / i fedt

3. Pestalozzi / ORI !

4. Comenius / PIAFTH

Correct Answer :-

« John Dewey / S &t

54) CANCELLED

The Foreign Direct Investment was increased from during the implementation of New Economic Policy in 1991. / 1991 b 7-|§' anffe Hifs &
g S ERFA @ iR serfRmmmmam

1. 50% to 70% / 50% ¥ 70%

2. 40% to 51% / 40% q 51%
3. 30% to 40% / 30% § 40%
4.30% to 39% / 30% 9 39%

Correct Answer :-

.« 40% to 51% / 40% ¥ 51%

55) In an ecotone, the species which become abundant are called? / T% TepfieT ('{cﬁﬁﬂ) ﬁ, 3 yenfaa e 7T siftre 'E?f\_:l'l'cﬁ%, G%W\_vﬂ'cﬂ
1

1. Edge species / U yorfoat

2. Keystone species / R yeffaar
3. Endemic species / TSfid yonfaat
4. Foster species / IR Feifaat

Correct Answer :-

« Edge species / U yorfoat

56) Which one of the following is slow downhill movement of debris? / ﬁaﬁﬁﬁ?“\‘ﬁw a2y o et e iy @2
1. Creep /19

2. Earthflow / §q1udig

3. Landslide / &g

4. Mudflow / YT

Correct Answer :-
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57) Which of the following country is the largest producer of Uranium? / fafrfead ¥ s e qﬁﬁw Eakecre 93T TP %?
1. Kazakhstan / HIIRIA

2. Canada / TSI

3. Australia / Gﬁ@:‘%ﬁl’l

4. USA / g 4 3ARaT

Correct Answer :-

. Kazakhstan / SVTRIEI

58) Which day is celebrated as Earth Day? / {31 &9 &1 gt feawy & =u & w=man wirar 2
1. 22nd March / 22 T

2. 5th June / 5 5[

3. 16th September / 16 RIdaR

4.22nd April / 22 3

Correct Answer :-

e 22nd April /22 3o

59) When was the Gandhi-Irwin Pact signed? / Tﬂ%ﬁ-s?ﬁq H’lﬁﬁﬁ TR Pd & o T ur?
1. 1931

2. 1929

3.1935

4. 1932

Correct Answer :-

« 1931

60) Per Capita Income =

Jufa safe ema =

Income

1 Employment rate

3
AR TR

National Income

Population

IS 3

ST

2.

Taxable asset

3 Population
PR I "ufy
SIS

Population

4. National Income
[SRLSC)
X g g A

Correct Answer :-

National Income

Population
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